Improper fraction and mix fraction

In the ruler below, each centimeter is equal to 3 gaps
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Using the above ruler, write the answers in fraction form:

How faris it from: Gaps Improper fraction Mix fraction
1. AandB:
2. AandC.
3. AandD:
4. AandE:
5. AandF:
6. AandG:
/. AandH:
8. Aandl:
9. AandJ:
10. A and K:
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11. Aand L:

12

13.

14.

19.

16.

T .

18.

19.

20.

21.

22.

23,

24.

295.

. Aand M:

B and C:

B and E:

C and D:

C and E:

C and H:

D and E:

D and J:

E and F:

E and I:

G and J:
H and K:
Hand L:

J and M.
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